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D 22+5 @ 9+8
@ 6=+80 ®)36.4+6
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D 2+5=44
®9+8=1.125
®112+4=28

@ 6 +80 = 0.075

® 36.4+6=6.066--
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D 38.5=+25 @)12.8+7

@ 23=+8 ® 9.45+9
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D 385+25=154
©®12.8+7=18285---
® 26+ 3 =28.666---
@ 23 +8=2875
®9.45+9=1.05
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72+ 8 7 00+ 8 7X100X8
—472><1
© 100 © 8
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3.72+12

O 3.1+12=3.72 @ 31x12=3.72
@ 3.1x12=23.72 @0.31 x 12 =3.72

® 0.031x 12 =3.72
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3.72+12 =031
U A7 0 9 Al o] A2

(F)x (e F) = (FrelRlE 5) gy
whabA] 3.71 = 12 = 0.31 2] Al

0.31x 12 = 3.72 Y},
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3.12+4
D 0.078 x4 = 3.12 @0.78 x4 =312
@ 7.8x4=2312 @ 78%x4=3.12

® 78+4=23.12
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3.12+4=0.78
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whebA] 3.12 +4 = 0.78 o] 442 0.78 x4 = 3129 Yt
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(BBl 18] BA)=35 + 4= %gx }4 = (k)
i
500g = %kg A
(@B g2e 2A)=1 -2 = 2 ()
(A" 15 A7 BA)= 1% +36x 15 = ;%gx % ><lf5(kg)
= %(kg)




